
 

���ر�� ��ل ��آ� دوران ��� �
� ��ل 	��ر ����  
  

��ل �  . -,م +*�ر %()' ا����م ا%�!$�#�� و	"!
 � ا�

  
 �����1   


�آ�ت و���� ��
����2g ا 9 8m s, /=  

� ��� ���� ا
���اد وذي �� ��� � ا���! �" #�$
� �%( ف � ل أ�� ا�� آ�%��� %��� �آ�%

Cm 250g=  ��!�*+وr 6cm=  .  

 ��ا0�� ا�� �4ور � ل �3 ره� ا0/.- � ا�
  . >��;  �3�Mك $�89 !%�7 �6دو"� ذات !6م 

 �30αا=*��� 4 "� / ق �@� ى ��<� ��=6او$ = ° 
7= B -./0ا �C%= �9@D=�� OA 2m=  . �آ�%

Smا=*��� ه-  400g=  .  

ــ أ�@I +�ة � ة ا=FD�= �G ا=*��� 4@�ر!�  1
a 0 5m s, /=   

2  �� =�3آ�D�6=ا ���آM� 6 ر  Gــ أآ�I ا=�*�د=
� !�D أ�N ا=�*%# ��*D� �  .  Rا=*��� !%�� أن ��!�7 ا=�9<�

3 �� OBــ !%Q أي �@�/�.D=ا R�O  �!�� ��M4 -
= �G=ف � ة ا�� IG$G  ��.D=ا �D! ���*D�A  ؟  

4  I@�ــ أJ∆  ���� W�D��وا ، �  .   M!6م �M ر ا0�� ا�

 �����2  

22!6م �M ر ا=.�ص . ورأ�-  ∆�*��N�� �9 /- دوران � ل �3 ر >��;  m.kg10.6J −=∆   

1  ��.� �� ا=@�!� ا=6او$� =�3آ�C� 79��" QD3D�=ا �Z�$ ــM  �*� Q%! �" 4r=0,1m  ا=�3 ر R�∆  .  
� ��آ�  1ــ  1*�9B -ه ��M  اب G=؟ !%� ا  

   t(f=θɺ(واآ�I �*�د=� ا=@�!� ا=6او$� θɺɺ��د ���� ا=�@�رع ا=6اوي  2ــ  1
2  c$ار �ا= �Nأ �D! م�*D� ل ا=6اوي M/0ــ !%�� أن ا .  
� =%�3آ�  1ــ  2�D�6=ا �  t(f=θ(اآ�I ا=�*�د=
s0,4t1ا�@I !�د ا=�ورات ا=�6GDة ��B Rف ا=.�ص ��R ا=��ر$R�C  2ــ  2 s2,5t2و  = =  



 

� ذات ا=��ر$c  3ــ  2d3%=�9 ا�*�t=2s  . -����=@�رع ا�ا= -���� �d3%=ا gه� -/ I@�اat  @�رع�وا=

 -�dD�=أan  ��.D%=M  @�رع�ا= #dD� W�D��واθɺɺ  .  
9� =%�3 ر  3@D=�� ا=.�ص Q%! �.9� .  ∆ــ ا�@�G� I ع !6م ا=. ى ا=�
  
  
  
  
  
  
  
  
  
  
  
  
  

 �����3   
 #@" 8=6D$(S)  7�%�آm = 70 kg  �9�  B Q%!α = 30° ل �� أآ�9 ��� =�@� ى ��<� �6او$@D=��

� ��9 . =%�@� ى ا0/.- �!%Q ا=�@� ى ا=��<� $�89 ه�ا  r� #@"(S)ل ��آ� .  �G�(C) ا=G@# � ا�


�آ�ت 4
�/s � ة ��
� از$� =%�@� ى و��3Dه� !
Q3D� t ا=�3آ� و+�f  ��4ا���0 � ى ا
10

1
  #@G=وزن ا

)P
10

1
f(

��

=   

1- Q=ا0و ��89 ا=Q%! �93 ا=G@# � ة >���� , �rل ا=���%$F  �>��=ى ا �@�%= ��%, � از$D$ w�3� 8
 ��.D=ا R� ��>�� ��  Aا=G@# ��ون ��!�.D=ا Q=إ �M�=B  �/�@�� ��D! �*94 -�=5اm  �!�@�

s/m5vB =.  

  ��.D=ا �D!و ����Z=ا �)���� "�$�ة �F9M4 w�3 ��آ�  F، ���4 ا=. ة  r�Bل ا=���%Sل  ( B Q%! ��d�D�
 �  . BD   w��BD=25mا=�@�/

  . Fأ�@r� Iل آ� ���%� +�ة ا=. ة  -
2-  #@G=ا |��| ا=m  , �93 �30*� أن �.D$ .

� ��آ� ا=G@# ؟ أ��D�W ا=��ة *�9B -ه ��
 ��.D=ا R� 7�r�� ا=�- ا��{���� ��D ا��D�6=ا

A  ��D� 7! "ر R�� Q=إ.  
=%.��م ���g ا=��Gرب �@�*�� ا=��Gز ا=��=-  -3
 :  

 � = P  . ��!�*+Rا=�93 �%( ف !%Q أ�� ا�
25cm  ����< �� !%Q أ0�� ا��  P1أ�� ا��9Z�
Q=ا0وP   

  . (∆)، =��� �(t ا=�3 ر R1= 50cmو+*�!��  
 ��� �9� �%�C’  �3=7 ا/�B -/ w94 w��

 ��@"(S’)  �G� و$. م �=7 ��آ� رأ��
�  �3  ا0�(� ! �G�=ا.  

 �! �G�=ر ا M� 6م!(P1 ,P) 2m.kg375.1J =∆   

  :أ�@r� Iل آ� ���%� ) . Q%!)1 ا=���%��R ا=%��R �4; ا�+�رة إ=���� /- ا=@�ال  ��!���دك
� ��B Rف  -أ! �  . ’Sا=�@�/� ا=�.

  . ’4C �4 ا=�93  -ب



 

�  -ج%�
� ا=���m1   
 �� =�3آ�D�6=ا �  .�rل آ� ���%�  (S’)وأآ�I ا=�*�د=

4-  �� ا�� !�D ا�.��ع ا=θɺ  �93أو"� ا=@�!� ا=6او$��=C  �� ا�� وا=@�!��= �و آ�=� أو"� ا=@�!� ا=6او$
 #@G%= ���C=اS’  #@G=- $�� /��� ا�ا= �d3%=ا �D!S  ��.D=ا R�A .  

 �����4  

 �9%N ��@" �9�*�( )1S  7�%�1آm 1kg=  �� أ/.�
� Q%! ق
6�r= ���� .( )1S   #@G� �94��( )2S  7�%�آ

2m  ة�
� ��� ��ود ، آ�%�7 ���%� ، $�� /- ��Gى ��� ��)� ا� )B  ��!�*+ �@��G��r 4cm=  �%���

)=%�وران ��ون ا��
�ك � ل �3 ر  � !%Q ا=9
�ة . أ/.- >��; $�� �R ��آ6ه�  ∆(�C=6=8 اD$ 
 ��rل ا=�3آ

( )B  .  

)!6م �M ر  )B  3 ر�%= �9@D=��(   .   ∆Jه   ∆(

 R� R� �� 
� ا=��! �G�=�3ر ا�( )1S  و( )2S  و( )B  c$ر��ذات ا= �d3%=ا �D! ��>�� ���0tون ��! 0=  .  

 �
)4{��ات ا=@�!� ا=6او$� ) �Z�$)2 ا=�QD3D ا=���Z /- ا=� )tθɺ  ة�
9%= .  

1  �)ــ أو"� ������9 �*�د=� ا=@�!� ا=6او$ )tθɺ  .  

2  �� ��آ*�9B ، ا�� " r%*� ــ ��د( )B  .  

)!�د ا=�ورات ا=�6GDة ��B Rف  nــ أو"� 4*��9  3 )B  �d3%=ا �D!t  R�6=ا �=
��t  وθɺɺ  @�رع ا=6اوي�ا=

 �)=�3آ )B  . I@�أn  �d3%=ا �D!t 1 25s,=  .  

4  R� آ� �� ��آ*�9B ، ا�� " r%*� ، ــ ��د( )1S و( )2S  ���!4@�ر ���� I@�أ #< ،a  .  

5  R�� س���# ا=�ــ $( )1S  w�� ك�
���� �

�ك  ϕوا=@��
� ا0����� =%�Q%! �$�3 . زاو$� ا�r*=8�9 ا���

 R� آ�( )1S  و( )2S  و( )B  @�رع�أن 4*��9 ا= R�� ،a  -=��=ا �

�Q%! I ا=�$ :  

( )2 1

1 2 2

m m k g
a

J
m m

r

.

∆

−
=

+ +
  

 w��g  و �=�.Z=4@�رع اk tan= ϕ  ك�
��
  . �*��� ا

6  �)ــ ��R أن ��آ )1S  ;إذا آ�� 
2
 4�# إm  �)آ�% )2S  Q�� $IG �34$�ه� ز $*��� R� �9أآ

k 0 16tan ,= ϕ =  

  
 
 
 
 
 
 
 
 
 
 
 
 
  



 

 �����5 ***  

�آ�ت و���� ��
   ����g=10m/s2 "��| ا

 �! �G�=�9 ا�*�(S)  �
� /- ا=�%Z��=1(ا ( R� �� 
  : وا=��
 ��!�*+ �@��G�� ة�
�3�  r=5cmــ ��%�

 ��= B ق�@�MN=2L=40cm  68 ��آ����$
9%
�ة  M�G ره� �| ا=��آ6 = . �! �G�=ا

� =%�وران /- ا=�@� ى } ا=@�ق ، ا=9
�ة {%���

>��; $�� �R  ∆ا=�أ�- � ل �3 ر أ/.- 

9� .  Gا=��آ6 @D=�� �! �G�=ر ا M� 6م!

  .  ∆Jه   ∆=%�3 ر 

 ���� ��ود آ�%�7 ���%� �%( ف � ل  fــ ��
 I%N #@G� 7�/�B ��ة و>9; أ�
 �G�S1ى ا=9

 S1ا=G1  . #@Gو��آM� 6 رm=0,8kg  gآ�%�7 

 �6
ق !%Q �@� ى ��<� �6او$�r= �$��α=30°  ى �@�%= �9@D=��

 r�� �9ا0آ �C=ا0/.- و/8 ا .  
 ��C=�9 أن ا�*�f  �
 $�G� Q%! 8=6Dى ا=9
�ة أ>�Dء ا=�3آ .  
 �! �G�=�3ر ا�(S)  �d3= �D! ��>�� �
 ن  ��t=0ون ��!$ w��G1 

 �N09.� �| ا�D�O   #%*�%=( , )O i
�

  . |� � �d3= آ� �D! #%*��G1 

  .  M/0��x ل 
� ، 4*��9 ا=�@�رع  1�
=�3آ�  aــ أو"� ا!���دا !%Q ا=�را�� ا=�$�3

 #@G=اS1  �=
��m  ،r  ،J∆  ،α   وg  .  
2  �
�  (S)4{��ات ���| ا=@�!� =%G@# ) 2(ــ $�QD3D� �Z ا=�=
��x  (v2=f(x))  .  

� ا=�@�رع ا=6اوي  a��د ����  1ــ  2��� W�D��واθɺɺ    �! �G�%=} ة�
  . } ا=@�ق ، ا=9
�  �M)D$S1 ا=G@#  2ــ  2�.D=�� gور�� �d3= ��C=ا R!B  ل M/0ذات اxB=0,8m  �D! �.@�/I  Q%!

�  (π)ا=�@� ى ا0/.- /�@� Q%! �" $ ا=�يh=1m  ��.D=ا R�B  .  

�  1ــ  2ــ  2�.D=أو"� إ��ا>�- اI  #%*�=ا -/( , )BX BY
���� ����

   .  

��ف  2ـ  2ــ  2%= ���C=ا ��  S1=%@�ق �*� ا�(�Mل ا=M  #@Gأ�@I ا=@�!�C=ا R! . 


